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* A driver with 20/40 vision and a sixth-grade education needs 2 sec to read a directional sign. The letter size is such that the sign can

be read by a person with 20/20 vision from a distance of 200 ft. Does the subject driver have enough time to read the sign at a speed
of 40 mi/h? (10 %) :
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* A line of traffic moving at a speed of 30 mi/h and a density of 50 velvmi is stopped for 30 s at a red light. Calculate (1) the velocity

and direction of the stopping wave, (2) the number of cars stopped during the 30 s of red. Assume a jam density of 250 veh/mi. (10

)

* Vehicles A and B are travelling toward each other in the opposing lanes on a straight segment of a two-lane highway at 35 and 40

mi/h, respectively. If the critical rates of angular change of the two drivers are 0.0065 and 0.0055 rad/sec, determine (a) which driver
will be the first to displace laterally and (b) the longitudinal distance between vehicles when the displacement will occur. Assume
that the lateral separation betyveen the two vehicles is 6 ft. (1043)
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